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X
SWVFETEREXEEETE S
EHT % BEALEBEREHN EHT % BEANLBFEREH BEALBEREHN EHT % BEANLBEREHN
E] % it E] % 5t E] ES 5t ] % 5t
XF LN 0 0 0 | K=xK#H+ 595 638 1,233
RKFARNE 0 0 0 | K=4E5)1 2,980 | 3073 6,053
KFTRE 0 0 0 | K=FREHN 0 0 0
= HilET 1,401 | 1,401 2802 |[FEKE1TH 440 484 924
=#5TH 1,438 | 1,450 2,888 |[FEKE2TH 94 100 194
=#B6TH 3,747 | 3703 7,450 [FEXE3TH 644 642 1,286
RFER 7,082 | 7,179 14,261 |FEKE4TH 328 338 666
RFIEFE AT 1,176 | 1,265 2441 | KFEXEIEXR 0 0 0
KFERX 1,564 | 1,646 3,210 [ KFXERBH 0 0 0
KFIER 183 215 398
RFiEFEHELT 194 193 387
RFFET 792 809 1,601
XFS 1,171 ] 1,230 2,401
KFFAF 536 572 1,108
RFEHNHFARE 2243 | 2186 4,429
RFAEFHH 283 280 563
RFEHBRE 68 69 137
KF L HARE 0 0 0
REFAEMES 1,821 | 1,894 3,715
KFEITRE 1,350 | 1,389 2,739
KFZYE 912 945 1,857
AXFERAFHA 493 493 986
RFEXR 12 17 29
AFHERA A FH 4 6 10
SBAE1TH 4 41 82
BAE2TH 46 38 84
BEAR1TH 26 27 53
BEAR2TH 51 54 105
EAXBISTH 84 64 148
IS4 1,475 | 1,585 3,060
RKFER 489 491 980
KFE=KH] 227 239 466
AFHEABAR 1,151 | 1,166 2,317
RFFEFH® 935 979 1,914
AFERHA 441 440 881
P = 5 L8 g
A A
36,517 37,341 73,858
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tX
SWVFETIEREEEEEZE S
EHT % BEALBEREHN BEANLBFEREH BEALBEREHN EHT % BEANLBEREHN
E] % it E] % 5t E] ES 5t ] % 5t
XFEXE 0 0 0
KEFEKRRE 0 0 0
KkBT4TH 2447 | 2467 4914
REABEI1TH 1,818 | 1,886 3,704
RABET2TH 2,300 | 2346 4,646
XFERBB 0 0 0
HER1TH 4802 | 4017 8,819
H¥ET2TH 6,411 | 6,790 [ 13,201
HERISTH 2343 | 2347 4,690
¥i5IBT2TH 2,088 | 2166 4,254
XEMNEE 0 0 0
=ERE1TH 4121 | 4344 8,465
=RE2TH 2635 | 2462 5,097
=REISTH 2771 | 2780 5,551
=RE4TH 2,687 | 2586 5273
EHE1TH 2837 | 2611 5448
EEHEI2TH 1,720 | 1,677 3,397
Al Fr BT 2435 | 2505 4,940
FERHET 3,831 | 3812 7,643
WEHE1TH 2197 | 2139 4,336
WEME2TH 504 736 1,240
BT 1,517 | 1,672 3,189
KFELE 0 0 0
+ BT 210 214 424
TEE1TH 2,354 | 2450 4,804
T EE2TH 2,205 | 2249 4,454
% FHT 1,596 | 1,651 3,247
KFFAEAE 0 0 0
A ERET 4464 | 4624 9,088
WE1TH 0 0 0
RiB1TH 0 0 0
RiB2TH 0 0 0
RiB3TH 0 0 0
P = 2 £°4 it
= H 60,293 60,531 120,824




HTAEE AN B EEHRER —ER

TERi29%1281BRE

KERX
SWVFEFTAERERZEBREER
EHT % Eék%%%ﬁ%‘_%& EHT % BEANLBEEREH EHT % BEALBEREHN EHT % BEANLBEREHN
E] % it E] % 5t E] ES 5t ] % 5t
XE6TH 180 184 364 | FAT1TH 141 140 281
XE7TH 198 211 409 | FEI2TH 122 107 229
JLEAT1TH 1,273 | 1,330 2,603 | FHI3TH 1,009 | 1,107 2,116
JLiEAT2TH 1,268 | 1,252 2520 |[HET1TH 614 646 1,260
EHAET1TH 473 488 961 |FET2TH 659 647 1,306
EHE2TH 511 480 991 |#AKHET1TH 490 538 1,028
EHEISTH 521 540 1,061 (4 KET2TH 643 581 1,224
EHE4TH 504 556 1,060 (4% KET3TH 535 568 1,103
ERAET1TH 455 490 945 |# KHET4T B 2,443 | 2,404 4,847
ERET2TH 559 606 1,165 |$RHT 2 2 4
KBEI1TH 1,925 | 1,987 3912 | KpkAT1TH 1,792 | 1,761 3,553
KBE2TH 2,079 | 2101 4,180 | KpkET2TH 1,154 | 1,158 2,312
BORE1TH 1,915 | 2,005 3,920 | KBTS TH 1,852 | 1,858 3,710
RORET2TH 688 706 1,394 |#i518T1TH 2676 | 2779 5,455
EORNEISTH 918 945 1,863 |[=H&1TH 3,695 | 3,866 7,561
FHER1TH 548 586 1,134 |=#82TH 2501 | 2448 4,949
FHERT2TH 1,209 | 1,408 2617 |[=#&3TH 750 693 1,443
E2f1TH 811 854 1,665 |[=#84TH 2,227 | 2,265 4,492
E2[2TH 577 580 1,157 | E/NET 4159 | 4,132 8,291
E2[/3TH 258 281 539 | XE{HET1TH 0 0 0
E2/4TH 2 3 5 | KEHET2T B 0 0 0
TFHE1TH 948 871 1,819 | KEHAEISTH 0 0 0
TFH2TH 300 306 606
TFHISTH 589 554 1,143
=EET1TH 75 80 155
=EE2TH 165 158 323
EEI3TH 342 308 650
=EET4TH 420 362 782
EE5TH 329 211 540
AFET1TH 15 11 26
AXFET2TH 26 26 52
AFEISTH 556 575 1,131
HET1TH 27 19 46
HET2TH 35 31 66
{HETSTH 224 174 398
A £ 5 T B
A

H 48,387 48,979 97,366
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RAX
SWV-FHRIAREZEBREER
EHT % BEALBEREHN EHT % BEANLBFEREH EHT % BEALBEREHN EHT % BEANLBEREHN
E] % it ] % 5t E] ES 5t ] % 5t
KFART1ITH 3523 | 3548 7071 [MMAE1TH 2 3 5 |&M2TH 795 766 1,561
KFARI2TH 3,176 | 3,328 6,504 |JIEE2TH 2 0 2 |EM3TH 1,092 | 1,004 2,096
KFH 1 0 1 | KFAEILUFHA 2 2 4
WET2TH 1 0 1| KFRWL 2 1 3
Y s BT 3,364 | 3483 6,847 | KFRF 312 288 600
AXFE 0 0 0 | KFEXH 3,746 | 3958 7,704
=1} 1,988 | 2,075 4,063 | KFiEE 4045 | 4,167 8,212
BR1TH 187 191 378 | XFEERH 1,735 | 1,892 3,627
BE2TH 169 166 335 | KT H P98I 1,671 | 1,676 3,347
BXE1TH 1,281 | 1,235 2516 | KFHEETF 1,381 | 1,564 2,945
BEKXKE2TH 1,201 | 1,183 2384 |HET1TH 78 89 167
HEKXE3TH 1,002 | 1,192 2194 |HET2TH 189 178 367
BHKXKE4TH 2175 | 2,182 4357 |RET3TH 55 52 107
HKXE5TH 1,282 | 1,256 2,538 | KF#HIE 1,243 | 1,388 2,631
HKXKE6TH 1,546 | 1,483 3,029 | KFiZFIE 303 293 596
BEKXKE7TH 2054 | 1,988 4042 |IRE1TH 582 569 1,151
RFHH 815 807 1,622 [iFE2TH 418 381 799
A#TH 168 184 352 |R{E3TH 618 601 1,219
A#2TH 63 62 125 |iRE4TH 0 0 0
FHIER 8 6 14 |R{E5TH 96 82 178
KFLWL 229 245 474 |EH1TH 1,483 | 1,635 3,118
KFEB 281 269 550 |&EH2TH 274 372 646
28/1TH 105 110 215 |EH3TH 681 682 1,363
2%82TH 75 63 138 |EH4TH 578 588 1,166
$A3TH 299 327 626 | KFH I 466 451 917
RFEHH 1,736 | 1,889 3,625 |FL 4 U HT 1,095 | 1,015 2,110
KFEA 132 126 258 | KFEL A 60 72 132
KFHER 2736 | 2826 5562 |E~B/IE1TH 46 55 101
RFEEFEFH 2884 | 2986 5870 |E~&E2TH 2 4 6
AKFEREPH 3,777 | 3,902 7,679 B4 BRE3TH 139 147 286
AFH)I 3211 | 3365 6576 |E~ BIEATH 43 37 30
RKFEELOFE 295 323 618 | KF/INMEIE 2,506 | 2599 5,105
AKFAEILFFHEA 21 16 37 |EIET1TH 0 0 0
RFHEIFHH 39 29 68 |EIBT2 T H 9 40 49
KEMNMAEHFHA 1 2 3|EMITH 586 604 1,190
A = 5 z &t

= A 66,160 68,102 134,262
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PREX

SWEFTHRREZFETEZER

EHT % BEALBEREHN EHT % BEANLBFEREH EHT % BEALBEREHN EHT % BEANLBEREHN
E] % it ] % 5t E] ES 5t ] % 5t
KFELES 0 0 0|/\EF4TH 237 261 498
LEE1TH 1,225 | 1,395 2620 |/\EF¥5TH 768 821 1,589
L&&2TH 1,508 | 1,605 3113 | FI&1TH 730 683 1,413
L#E&3TH 900 915 1,815 | FIE2TH 731 721 1,452
L&E4TH 325 366 691 | LIZ3TH 604 541 1,145
L#E5TH 758 739 1,497 | EIE4TH 400 389 789
L#%&6TH 998 | 1,009 2,007 M1 TH 28 30 58
L&E7TH 1,056 | 1,147 2,203 |M3G2TH 256 252 508
L#%E&8TH 589 677 1,266 |ARIFE3TH 93 99 192
L&E9TH 442 479 921 |MHMFR4T B 414 419 833
RKFT%E 1,320 | 1,497 2,817 |MRFFE5T B 595 595 1,190
T%&2TH 692 744 1,436 |HFIR6 T B 63 66 129
T%&3TH 756 815 1,571 |HRR7 TH 232 220 452
T%&4TH 646 624 1,270 |#E1TH 566 584 1,150
T%&5TH 4717 506 983 |#xE2TH 407 403 810
T%&6TH 799 793 1,592 | RETFE1TH 542 522 1,064
T%&7TH 588 580 1,168 | RETFE2T H 381 411 792
#$/R/1TH 72 76 148 | AEJFE3TH 712 760 1,472
#$82TH 411 430 841 |AETFE4TH 564 531 1,095
$H83TH 560 496 1,056 | ABTFESTH 507 541 1,048
$H84TH 1,204 | 1,243 2447 | AEJFEG6 T H 127 144 271
#HA5TH 476 405 881 |RETEH1TH 441 462 903
#HA6TH 606 589 1,195 |[RBTEHR2TH 484 485 969
#HA7TH 1,180 | 1,234 2414 | RAEJE3TH 470 468 938
#HA8TH 429 417 846 |KETHATH 752 762 1,514
#HA9TH 125 89 214 | KETE5TH 693 706 1,399
KXFE1TH 881 878 1,759 |ABTE6TH 435 439 874
KF2TH 387 385 772 |ABTE7TH 1,333 | 1,283 2,616
KE3TH 477 494 971 | E1TH 884 864 1,748
KF4TH 638 659 1,297 |FhE2TH 546 608 1,154
KE5TH 867 920 1,787 |#hE3ITH 633 649 1,282
KFE6TH 584 592 1,176 |FhEATH 1,034 | 1,085 2,119
ANEFI1TH 32 45 77 [FHESTH 896 883 1,779
IANEF2TH 390 408 798 |FRARIL 20 33 53
IANEF3TH 821 784 1,605
A £ 5 T B
A

A 40,797 41,755 82,552
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\}
X

SWVFETRREXEETEETE S

EHT % BEALBEREHN EHT % BEANLBFEREH EHT % BEALBEREHN EHT % BEANLBEREHN

E] % it E] % 5t E] ES 5t ] % 5t

RFdE 0 0 0 |BT&®1TH 396 367 763 | KFHFIFEAR 0 0
FEE1TH 326 315 641 |BT&2TH 369 397 766 | K EFAIBAD 0 0
FaE2TH 938 865 1,803 |ATA3TH 656 584 1,240
FEE3TH 832 819 1,651 |BT84TH 368 306 674
FYE4 T H 1,276 | 1,319 2,595 | KFRITTTE 0 0 0
FEESTH 464 468 932 |FE1TH 500 505 1,005
FaE6 TH 876 811 1,687 |EITE2TH 997 | 1,043 2,040
FiE7TH 1,011 | 1,014 2025 | KFEHE 0 0 0
FEESTH 648 631 1,279 |9 B1TH 781 705 1,486
FEEOTH 614 616 1,230 | E2TH 384 327 711
FEE10TH 304 318 622 |HE3TH 163 157 320
e 0 0 0|F84TH 317 285 602
AX¥HE 0 0 0 | K=FEH 0 0 0
HE1TH 655 673 1,328 |RF1TH 561 498 1,059
HE2TH 547 535 1,082 |RF12TH 783 746 1,529
HE3TH 899 837 1,736 |RF3TH 699 674 1,373
HE4TH 965 914 1,879 |RF4TH 488 447 935
HESTH 537 510 1,047 |RF5TH 545 527 1,072
HE6TH 1,360 | 1,523 2,883 [RF#6 T H 522 454 976
HE7TH 77 98 175 | KFIWAR 0 0 0
HESTH 266 193 459 (ILARITH 367 330 697
HE9TH 227 174 401 (ILAR2TH 487 467 954
HE10TH 679 653 1,332 | KF ERKAZ 1,935 | 1,889 3,824
RFHE 0 0 0 [ KFTFTRAR 2,033 | 1611 3,644
FE1TH 465 463 928 | KFKARBER 2,537 | 2751 5,288
#BE2TH 213 195 408 | K=#H 2,155 | 2,057 4212
#BSTH 10 12 22 | KFE# 3,044 | 3052 6,096
#BH4TH 0 0 0 | RFHER 167 163 330
XFEH 9 4 13 |[KFE 269 245 514
EB1TH 282 267 549 | XF AR 768 802 1,570
EiF2TH 1,248 | 1,230 2,478 | KFIEX 694 690 1,384
Ei53TH 445 390 835 | K=FHEFN 0 0 0
EiHF4TH 0 0 0 [#%HE1TH 344 349 693
EiHF5TH 0 0 0 [#%H2TH 541 536 1,077
KXFHSA 2 1 3 |[#%@3TH 166 152 318
P = 5 L8 g
= A 40,211 38,964 79,175
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SEMX
SWVFETHENRERZREBREER
EHT % BEALBEREHN EHT % BEANLBFEREH EHT % BEALBEREHN EHT % BEANLBEREHN
E] % it ] % 5t E] ES 5t ] % 5t
FE1TH 630 648 1,278 |$#t4B3TH 659 721 1,386 |Rith2 T B 491 522 1,013
FH2TH 588 620 1,208 |$#t5 84 TH 1,056 | 1,368 2,424 |RiIth3T B 749 715 1,464
FHE3TH 469 491 960 | EKIZF1TH 1,387 | 1,503 2,890 |[AKX1TH 1,553 | 1,780 3,333
FH4TH 954 | 1,045 1,999 | EXIZ2TH 926 | 1015 1,941 |[AX2TH 1,171 | 1,241 2412
FHE5TH 559 567 1,126 | ERIZE3TH 751 730 1,481 |[AA3TH 1,121 | 1,159 2,280
FH6TH 759 765 1,524 | EXIZ4TH 640 644 1,284 |[AX4TH 690 749 1,439
FHE7TH 893 937 1,830 | ERIZESTH 527 562 1,089 |[AA5TH 888 937 1,825
HFHET 1,100 | 1,141 2241 | L RIE6TH 994 | 1,039 2,033 |TET1TH 1,059 | 1,099 2,158
=2M1TH 200 248 448 | EXRIB7TH 474 524 998 |FTHT2TH 1,370 | 1,509 2,879
=2TH 295 360 655 | EKIZST B 233 249 482 |THTSTH 749 816 1,565
=3TH 409 440 849 |KIE1TH 545 558 1,103 | XE1TH 1,206 | 1,281 2,487
=4TH 675 740 1,415 | KIG2TH 686 683 1,369 | KE2TH 761 835 1,596
HE e 730 758 1,488 | KIE3TH 285 289 574 | KE3TH 587 627 1,214
HET1TH 564 661 1,225 | KIG4TH 723 752 1,475 | KFEZIF 4 7 11
HET2TH 649 733 1,382 | KIG5TH 867 931 1,798 |#48A1 T H 483 499 982
{HETSTH 628 684 1,312 [SER1TH 741 780 1,521 |#48A2T B 703 720 1,423
HET4TH 705 774 1,479 [EK2TH 487 471 958 | 2 LLIAT 793 878 1,671
B ET 1,284 | 1,370 2,654 |$EK3TH 775 785 1,560 |;EF0{HET1 T H 0 0 0
EHB1TH 1,091 | 1,133 2224 |$ER4ATH 611 654 1,265 |;EF0MHET2T B 0 0 0
EHE2TH 833 913 1,746 |[SEXS5TH 489 546 1,035 |;EF0{FEISTH 0 0 0
EHITH 1,380 | 1,462 2,842 |fEK6TH 899 901 1,800 |;EF0{HET4 T B 0 0 0
WE4TH 655 716 1,371 |$BR7TH 988 | 1,059 2,047
EES5TH 698 792 1,490 |#~IE1TH 695 750 1,445
EE6TH 499 497 996 |#A~ 2T B 809 846 1,655
EEITH 540 584 1,124 | ¥~ IG3TH 517 617 1,134
WHESTH 431 492 923 |#~ B4 T H 712 778 1,490
EHEOTH 1,225 | 1,277 2,502 |FE~ 5T B 785 828 1,613
H10TH 1,316 | 1,404 2,720 (B9i51 T H 710 711 1,421
JLiEF1TH 1,209 | 1,354 2,563 [E9i5H2T H 87 98 185
dLiEFI2TH 986 | 1,045 2,031 [ KIE1TH 292 327 619
dLEF 3T H 1,046 | 1,175 2221 | KIE2TH 175 214 389
JLiER4TE 155 175 330 | KE3TH 10 10 20
dLEFI5T B 1,554 | 1,634 3,188 [ KR4 TH 11 0 11
o B81TH 810 833 1,643 | KRS T H 0 0 0
oy 82TH 1,061 | 1,089 2,150 |Rii#th1 T H 983 | 1,030 2,013
A = 5 L8 H

= A 63,487 67.910 131,397
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X
SWVFETEREXETEEE S
EHT % BEALBEREHN EHT % BEANLBFEREH EHT % BEALBEREHN EHT % BEANLBEREHN
E] % it ] % 5t E] ES 5t ] % 5t
ABIG1TH 1,030 | 1,085 2115 |AIFF4 T B 288 289 577 |AA5TH 1,100 | 1,051 2,151
K&BE2TH 869 795 1,664 |BIFISTH 523 540 1,063 |NA6TH 1,122 954 2,076
BRI TH 1,230 | 1,215 2,445 |RIFF6 T H 744 675 1,419 |RB87TH 684 672 1,356
EHF2T H 1,531 | 1,503 3,034 |AIFF7TH 1,351 | 1,408 2,759 |lUB1TH 647 647 1,294
EHFISTH 2,888 | 2935 5823 [fRE1TH 801 809 1,610 |lM&2TH 576 540 1,116
EETI4 T H 97 94 191 |#RF2TH 660 641 1,301 |FMA3TH 602 547 1,149
AFARE 3,670 | 3,788 7,458 |#RF3TH 957 911 1,868 [FAARHEI1TH 448 493 941
AKHAE2TH 801 880 1,681 [#BF4TH 541 511 1,052 |FAARHET2T B 803 823 1,626
KHEAE4TH 760 795 1,555 |#BF5TH 1,404 | 1,521 2,925 |#BH1TH 438 438 876
KEAESTH 1,199 | 1,192 2,391 [ B%1TH 3,060 | 3,143 6,203 |#BH2°T B 193 186 379
RKFXAO 6,790 | 7,015| 13805 |{BE2TH 718 725 1,443
AXFMIEF 1,027 | 1,019 2,046 |;B%3TH 0 0 0
AXFLELTBE 945 988 1,933 [BS1TH 232 205 437
Hig1TH 490 343 833 |Bi2TH 290 262 552
Hig2TH 459 426 885 |[EEFH®1TH 496 518 1,014
Hi&3TH 1,086 | 1,153 2239 |EEFHR2TH 456 448 904
Hig4TH 1,775 | 1,787 3562 |[EEFHR3TH 798 748 1,546
HiE5TH 1,042 | 1,059 2,101 |BEFR4TH 992 977 1,969
Hig6 TH 1,098 | 1,047 2,145 |[BEFR5TH 1,030 974 2,004
H$1TE 1,202 | 1,149 2,351 |[EEFHR6TH 931 873 1,804
d2TE 973 938 1,911 |[BEFR7TH 972 940 1,912
33TH 788 805 1,593 | KFig4 0 0 0
14TE 1,007 942 1,949 [MAKR1TH 761 713 1,474
15TE 731 716 1,447 [MAKR2TH 527 505 1,032
16TE 274 289 563 |¥AAR3TH 598 561 1,159
17TE 760 727 1,487 [MAKR4TH 535 473 1,008
18TEH 1,014 | 1,061 2,075 [B#A1TH 649 626 1,275
XiE1TH 940 902 1,842 |#IAX2TH 732 691 1,423
XiE2TH 1,302 | 1,257 2,559 [HHIA3TH 669 637 1,306
XE3TH 1,675 | 1,576 3,251 [HHAR4TH 687 563 1,250
XiE4TH 1,154 | 1,123 2,277 [HAARS5TH 729 662 1,391
XE5TH 1,178 | 1,118 2296 |[NB1TH 271 265 536
AFF1TH 557 569 1,126 |[AA2TH 411 395 806
RAFF2TH 1,048 | 1,117 2,165 |N&3TH 776 680 1,456
AFR3TH 1,113 | 1,144 2,257 |A&B4TH 790 765 1,555
A £ 5 T &t
= A 76,495 75,557 152,052
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X
SWVFETHREREEETEEZE S
EHT % BEALBEREHN EHT % BEANLBFEREH BEALBEREHN EHT % BEANLBEREHN
E] % it E] % 5t E] ES 5t ] % 5t

XHEZE1TH 1,262 | 1,286 2548 | KFERE 12 8 20
XHESTH 763 740 1,503 LK1 TH 543 426 969
RKFXAO 76 90 166 | KFE% 0 0 0
BEW1TH 1,406 | 1,467 2873 | KFEHE 0 0 0
RW2TH 1,490 | 1,537 3,027 | KFEXKE 0 0 0
[RIL3TH 679 791 1,470 |[RXF1TH 110 128 238
FIL4TH 1,516 | 1,631 3,147 | KM2TH 645 649 1,294
KFEHE 5843 | 6,158 | 12,001 |BAFISTH 625 560 1,185
KFREK 3,362 | 3425 6,787 |E51TH 549 599 1,148
KFKREK 1,000 | 1,051 2051 |Bi152TH 639 641 1,280
AXFTFILOFHA 134 147 281 |MAK1TH 439 472 911
RFERFHA 0 0 0 [¥AKR2TH 461 495 956
KFE=ZE 6,492 | 6,877 | 13369 [fAK3TH 747 784 1,531
EHE1TH 442 507 949 |BEFIITH 487 521 1,008
EHL2TH 4217 475 902 |EEFI2TH 2137 | 2024 4,161
EHE3TH 260 308 568 |BEFISTH 1,130 | 1,180 2,310
EHLT4TH 783 764 1,547 |3Ri#EF4TH 837 822 1,659
KFKIF 467 393 860 |H#HFIST B 699 743 1,442
REFEEfEt 261 256 517 |BHEFI6 T H 619 611 1,230
RFFHH 221 193 414 |FR#EM7TH 1,113 | 1,201 2,314
XF LA 351 256 607 |E#HFIST B 550 631 1,181
RKFEH 47 46 93 [HBFIOTH 490 522 1,012
RKFHLL 244 230 474 |XE1TH 77 90 167
RFFIL 110 105 215 |XE2TH 24 19 43
RKFKM 3,108 | 3,153 6,261 |XE3TH 179 165 344
RFILE 37 44 81 |XE4TH 1,150 | 1,125 2,275
RFHEE 381 352 733 |XE5TH 552 560 1,112
AXFTHHE 305 296 601 |XE6TH 274 251 525
RFEREHH 84 78 162

BEA1TH 401 393 794

BEA2TH 616 632 1,248

ZRE1TH 381 413 794

ZE2TH 382 389 771

ZE3TH 699 738 1,437

KFEZ=H 0 0 0

A = 2 %
= A 49,118 50,448 99,566
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EHX
SV -EmABREREEZE S
EHT % BEALBEREHN EHT % BEANLBFEREH EHT % BEALBEREHN EHT % BEANLBEREHN
E] % it ] % 5t E] ES 5t ] % B
RFEH 1,940 | 1,921 3861 |FHET1TH 372 385 757 |RHET 427 403 830 | KFHiH 129 125 254
XFAH 0 0 0 |FAET2 T H 633 670 1,303 | KFRiIF 741 672 1,413 | KFFEMRF 604 642 1,246
XHE1TH 425 445 870 |FHAT3TH 457 452 909 | KFER 704 678 1,382 | KFEA 485 472 957
XH2TH 419 421 840 |FHAT4 T H 628 601 1,229 | KFHEAR 420 386 806 | FE1TH 321 331 652
XH3TH 42 41 83 |FEATS T H 622 603 1,225 | KFEAREHE 217 194 411 | FB2TH 275 273 548
AA1TH 594 579 1,173 |BSHT 438 422 860 | KFE T 520 535 1,055 |FREA1TH 240 242 482
AA2TH 342 353 695 | B O HET 695 683 1,378 | KEHE 132 116 248 |f\EH2TH 138 153 291
AA3TH 516 519 1,035 |SESEHT 601 604 1,205 | KFE7 I 352 330 682 |FEA3TH 808 | 1,122 1,930
AA4TH 377 384 761 |=BI1TH 367 429 796 | XFE~IGHEA 19 21 40 |FREH4A T B 322 382 704
HWE1TH 364 366 730 |=HBI2TH 1,053 | 1,023 2076 | KFEHE 252 242 494 |FREA5TH 188 196 384
HWE2TH 330 304 634 | XFETEH 23 29 52 | XFH.EHHE 709 656 1,365 |REH1TH 258 259 517
FHAR1TH 206 195 401 |1 TH 282 306 588 | KFFH#E 129 117 246 |HEM2TH 125 133 258
FHARN2TH 461 466 927 |BF¥H2TH 281 312 593 | KFEE1R 237 199 436 |FREHR3TH 233 226 459
FHASTH 6 3 9 |mTFHITH 367 366 733 | KFXH 747 697 1,444 |IREW4ATH 510 500 1,010
HR4TH 180 168 348 |FAFFH4TH 299 281 580 | KF#EEF 539 479 1,018 |[HEHSTH 364 333 697
WE1TH 445 448 893 |BFFH5TH 103 87 190 | KF/NE 1,372 | 1,325 2,697 |[HEMIG6TH 287 267 554
WE2TH 262 259 521 | KFEE 286 268 554 | KF#EAH 893 874 1,767 |XEFE1TH 272 268 540
WESTH 218 233 451 | KFRHES 151 129 280 | KFREREF 884 863 1,747 |XEFE2TH 408 396 804
WE4TH 458 367 825 | KFHE 189 241 430 | K=t 252 255 507 |XEHE3ITH 169 169 338
WESTH 615 597 1,212 | KFXO 168 174 342 | KFFH 308 287 595
HAR1TH 702 718 1,420 | KFXA 135 133 268 | LH1TH 442 470 912
HAR2TH 622 644 1,266 | KFKXKF 264 231 495 | L%H2TH 198 165 363
R 652 593 1,245 | KFHHEBEE 107 102 209 | EE3TH 79 62 141
AEAE1TH 395 378 773 | KFKXFHE 50 48 98 | L84 TH 8 9 17
FEEAE2TH 350 362 112 | K=ENE 56 55 111 | E85TH 0 0 0
AE1TH 330 309 639 |[ME1TH 600 576 1,176 | F&6TH 201 182 383
AH2TH 421 425 846 |[ME2TH 317 359 676 | KFEHY 5 243 285 528
ABISTH 300 313 613 |ME3TH 34 28 62 |54 351TH 10 6 16
AHBT4TH 413 462 875 |MME4TH 619 543 1,162 |54 352TH 18 12 30
AHISTH 305 312 617 |[MESTH 501 486 987 | KFHEHR 63 pal 134
ABI6 TH 317 358 675 | KFHR 222 219 4 | KFEEEF 824 804 1,628
HET1TH 599 608 1,207 | KFERF 147 170 317 | KFEE 579 453 1,032
HET2TH 536 544 1,080 | KFHAIF 372 347 719 [ K=F# 398 361 759
HE1TH 507 498 1,005 | KEZH 559 560 1,119 | KF£E 518 520 1,038
HE2TH 354 367 721 | KEATF 71 59 130 [ KFATE 674 696 1,370
A §_I_ 5 z 5
= A 47,317 46,855 94,172




